
Sequence Key Points

1.
1

4
1

2. 3 ​​1 _ 4​​ inches 1

3. 0 6
6

12 
6

1

4. 60 or equivalent 1

5.

60 ​÷​ 10 = 6
56 ​÷​ 7 = 8
54 ​÷​ 6 = 9

2

Any two of the three answers correct 1

6. 4 + 4 + 4 1

7.
2

Any two of the three answers correct 1

8.
Yes
No
No

1

9.
Part A: 2

Part B: 32 2

Part A or B 1

10. Both shapes have four equal sides. 1

11. 71 or equivalent and 47 or equivalent 1

12.
100 − c ​=​ 53 or 100 − 53 ​=​ c or

53 + c ​=​ 100 or c + 53 ​=​ 100
1
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13.

(4 ​×​   1  ) + (4 ​×​   8  ) or (4 ​×​   8  ) + (4 ​×​   1  ) or

(4 ​×​   2  ) + (4 ​×​   7  ) or (4 ​×​   7  ) + (4 ​×​   2  ) or

(4 ​×​   3  ) + (4 ​×​   6  ) or (4 ​×​   6  ) + (4 ​×​   3  ) or

(4 ​×​   4  ) + (4 ​×​   5  ) or (4 ​×​   5  ) + (4 ​×​   4  )

1

14. It can be used because all the tens can be added to find the product. 1

15.

Part A: ​​1 _ 8​​

Part B: correct
first

parts

2

Part A or B 1


